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REVIEW ANIWERS
Additional Practice for Chapter 1A test

Estimate to the nearest tenth.
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Simplify by rationalizing each denominator.
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16. A building has a mural painted on an outside wall. The mural is a

square with an area of 14,400 ft>. What is the width of the mural? "1LN—2-
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Each figure below is made from squares. Given the area of each

figure, find its perimeter to the nearest tenth. o
1. v t 5 t i a -~ \6\‘00 3. - L { L s W""\
T , L : ) 1 - tU \5&/ »‘(’Y —— ! ‘ = ~|
T 1 73*_5_&._‘-?-‘;0100_,“ 1k oF | box it & ?Q@zg_gom
‘h - o mT T  X*=150 1 1 . 9
————— _ 0t | bOX B =\4J3 ot \ \oo
A=720m? 5 a1 L 1 X=\Bb =34 oo e o v o0y
. el sz\jaqw X =120
BI0)  %={d0=lafie A=1s60% ,_ o\, — <
? BYdlo o X =2((om \0(2J24) =22{34 MY ={220
Simplify each express:on Ratlonallze denominators when necessary. 4 P \b \1-2%0 \ 0
4 V375 _ Bos _ 505 _ i 4J‘+3J_ '-E\\”Nz + 327 _ aqzﬂg“_
= MeNZ2 2
6. ~3J60.7J44 e S W _JWi_si o P TR
-3 0%y [ ~0ANIE Lo \I\'z-l I l
AR A P
-9/80 73 -1243 o T
8. o P - }Lé - _Z.
J32 - UWiWe _ O‘f V2 ~Nig" Vs \ggb\;?/ o
JtoN2 N2 (2. 2. : . '

Solve.

10. Karly is building a patio using large square tiles with an area of
42.25 fi* each. She uses 9 tiles to make a square patio. What is the

perimeter of her patio? = \2(? ) ~ P =\2 (. ‘5)
=422 f=3gf¢
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Write and simplify an expression for the perimeter of the figure.
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2. An Internet search engine company charges fees for advertising
links. There is a $5 fee to set up an account and a set charge each
time someone clicks on the link.
a. Tony set up an account with a search engine company.
The set charge is $0.75 per click. Write an expression (o e
for the amount Tony will pay for setup and c clicks. 4, T U {”F) 5

b. After a month, Tony noticed he wasn't getting many
buyers at his website. He chose an increased rate of
$1.25 per click. Write an expression for the amount

. /,f Tony will pay for setup, c clicks at $0.75 per click,
™ and d clicks at $1.25 per click.

¢. Find Tony's cost if he got 50 clicks i in the first month

and 85 clicks in the second month. 9+ () A%, (20) * |,25% (3 @\ =

9.Marco delivers newspapers on the weekend. He delivers
s newspapers on Saturday and 4s newspapers on Sunday.
He earns $0.15 for each paper he delivers. S¥Liq = 5¢

a. Write an expression for the total amount of money i o
Marco earns each weekend. U ' \Vj [“B)b\
b. Evaluate your expression for s = 50. () \0 (5 5’@\ = ®*3F90

c. Write an expression for the amount of money Marco
earns in a year if he dehvers the same number of

papers every weekend. 7 ‘572, =7.190) 0.\9 (ZUZ(h\

10. A tank holds 500 gallons of water. It starts out full, then
10 gallons are released every minute.

a. Wirite an expression for the number of gallons in the

" faRk afier i Fifutes, 9)9) DD

b. Write an expression for the number of gallons in the tank e
200 - oW

after m minutes if 2 gallons are also added every minute.

1.4a° + 8a + 36b

2.a.5+0.75¢ b. 5+ 0.75¢ + 1.25d c. §148.75
9.a. 0.15(5s) b. $37.50 c. 0.15(260s)
10. a. 500 - 10m b. 500 - 8m
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Simplify each expression. Assume all variables are nonzero.
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Assume all variables are nonzero.
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